SHMIEE KEV— FOBREAMES 1 [&EEIIZOWT
1 JEE(TaF=1, 2385 | FOEVLES | HFYBDEL|  Bhil aft
— - Hf 20 7 1 1 29
TS HE 16 10 2 1 29
0% 20% 40% 60% 80% 100% - =
| | 1 1 D %jl&.\j _igﬂ
1 1 1 ] i
— 2 69% | 24% oA3hk BELELES 93.1
. [ \ ObFEYBbHAL =z
ZFH 55% | 34% 7% |3% o EHii 89.7
- s
-3.4
2 EETAGEERS, Z385 | F0EVLES | hFYBDEL |  Bhil aE
— =557 21 5 2 1 29
=Y 24 4 0 1 29
0% 20% 40% 60% 80% 100% -
T T T oZ>85 g
—esyp 72% 17% 79 B% OEL=LES 89.7
. \ OHFYBDL =g
—FH 83% 14%  [39 O EhiL 96.6
J | 0% b4
6.9
3 HEELOLEFEEEHLSICH 585 | F0ELBS [HhFEYEDLEL Bbhhl ast
Yt-LVEES, —Hj 19 7 2 1 29
—HR 14 13 1 1 29
0% 20% 40% 60% 80% 100% @Z3E5
1 1 1 _ig)q
1 1 1 : = EE -
—2 66% 249 [7% [3% BEZLLNE 89.7
T \ [ OdhFEYBHLLITN — e
2y 9 9 %37 —
ok ] 48% | 45% B4 N o
B
34
4 LSS5 EEFOMASIHE 2385 | EVEVLES [HFEYBDEL]  Bbil aE
L=y, —FH 9 6 6 8 29
—Hf 8 6 9 6 29
0% 20.% 40% 60.% 8(?% 100% mz5E5 ey
1 1 1 N _ - 51.7
— 0 31% | % | 2% | 28% BZLZLES
: | | | ohFEYELLL | =FH
=1 28% 219 31% 21% 483
£ ] ® | | | ‘ ° |‘ O Bbhiy =
-3.4
5 SElDAMSHETELM TGN 7385 | F0EVLES [HFEUBDEL]  BbhHl &it
L EEPCIRFY—CEALS [ —2F 17 8 2 2 29
EB3. = 18 8 1 2 29
0% 20% 40% 60% 80% 100% o —
. . oOZ585 —%H
‘ ‘ R - 86.2
—% 8 59% 28% 7% | 7% Oz =0 ES
T \ \ ObFEYBRbHI e
— 62% 28% BY 7% o B Hri =57
) i
3.4
—zm | = H
2L 82.1 83.4 1.4




